
Solutions 

Task 1. 

 

 

 

 

 

 

 

 

 

 

Task 2. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

x 

y y=|x| 

y= -|x| 

x+y+2=0 

y=-x-2 

k1=-1 

k2=1 

 

 

(2, -2) 

-2 = 2+n 

n = -4 

y=x-4 

y=-x-2 

y=x-4 

2y=-6 

y=-3 

-3=-x-2 

-1=-x 

x=1 

(1, -3) 



Task 3. 

{
𝟑𝒙 − 𝟐𝒚 = 𝟔
𝒂𝒙 + 𝒚 = 𝟐

                      {
𝟑𝒙 − 𝟐𝒚 = 𝟔
𝒚 = 𝟐 − 𝒂𝒙

                  

3x-2(2-ax)=6 

3x-4+2ax=6 

3x+2ax=10 

x*(3+2a)=10 

𝑎 ≠ −
3

2
 

Task 4. 

A (2, 1)                               ℎ =
2𝑃

|𝐴𝐶|
                    

B (-2, -2) 

C (-8, 6) 

𝑃 =
1

2
|𝑥1(𝑦2 − 𝑦3) + 𝑥2(𝑦3 − 𝑦1) + 𝑥3(𝑦1 − 𝑦2)| 

𝑃 =
1 

2
|2(−2 − 6) − 2(6 − 1) − 8(1 + 2)| 

𝑃 =
1

2
|−16 − 10 − 24| 

𝑃 =
1 

2
|−50| 

𝑃 = 25 

|𝐴𝐶| = √(𝑥2 − 𝑥1)2 + (𝑦2 − 𝑦1)2 

|𝐴𝐶| = √(−8 − 2)2 + (6 − 1)2 

|𝐴𝐶| = √125 

ℎ =
50

√125
=

50

5√5
=

10

√5
∗

√5

√5
= 2√5 

 

 

 



Task 5. 

 

 

 

 

 

k1*k2=-1→ They are perpendicular 

k1=
3

4
 

k2=-
4

3
 

 

Task 6. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3x-4y-8=0 

-4y=-3x+8 

y=
3

4
𝑥 − 2 

4x+3y-15=0 

3y=-4x+15 

y=-
4

3
𝑥 + 5 

y=
1

3
𝑥 − 2 

k1=
1

3
 

k2=-3 

 

(1,5) 

y=kx+n 

5=-3*1+n 

n=8 

y=-3x+8 

 

y=
1

3
𝑥 − 2 /*9 

y=-3x+8 

9y=3x-18 

y=-3x+8 

10y=-10 

y=-1 

-1=-3x+8 

-9=-3x 

x=3 

(3,-1) 

 

 

 



Task 7. 

y=(k-5)x+k-3 

y=(2k+3)x-(3k+2) 

k1=k2  n1≠n2 

k-5=2k+3 

-k=8 

k=-8 

 


